0 Adding and Subtracting 3-Digit Numbers °

LO: to use column addition and subtraction
Calculate the answer to the following:

581 672 760 N 902
* 238 ~ 339 " 325 378
609 326 487 569
— + + +
526 419 133 650
713 317 , 628 900
286 258 194 278
Challenge: Complete the following calculations:
_12 87_ 9_5
+4_9 - _97 + T4 _
_02_ 5_3 1_53
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0 Adding and Subtracting 3-Digit Numbers °

LO: to use column addition and subtraction
Calculate the answer to the following:

581 672 760 902
* 238 ~ 339 = 325 * 378
819 333 435 1280
609 326 487 569
- + + +
526 419 133 650
83 745 620 1219
713 317 , 628 900
286 258 794 278
427 59 1422 622

Challenge: Complete the following calculations:

572
+ 449

1021

870
- 297
573

905
+ 748
1653

oy
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